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(v) HTT-3 & %7 G& 1 § 3 F 99 UF-UF 3w % 2 e e
U Ve U U AT H E '

(Vi) WTT-31 & YT GEA 4 B 6 F 5T q-3 FF ¥ &) 7 I
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(viii) HTT~3 & o7 T 19 & 24 % F97 Qa—gie 35 & &1 &3
I TN 70 VeEt 5 27 # )

(ixj WPT-T & J97 H&T 25 & 33 F 77 FIATHT FI5eT 07 S
TETaF X9 & | I W O i F 8 | B0 7 I e i 6
HITH Fc7 UF T TG (0T G777 8/

(x)  WTT-F & 57 TET 34 8 36 F T57 FIOIHF FIE G ST
7-31 57 F T B AR I A A 3 8

General Instructions :

(i) The question paper comprises two sections, A and B. You are
to attempt both the sections.

(i) All questions are compulsory,
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{iii} There is no choice in any of the questions.

(iv) Al questions of Section-A and all gquestions of Section-B are
to be attempted separately.

(v}  Question numbers I to 3 in Section-A are one mark questions.

These are to be answered in one waord or in one sentence.

(vi) Question numbers d to 6 in Section-A are two marks

questions. These are to be answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section-A are three marks

questions. These are to be answered in about 50 words each. .

(viii) Question numbers 19 to 24 in Section-A are five marks

questions, These are to be answered in about 70 words each.

fix) Question numbers 25 to 33 in Section-B are multiple choice
questions based on practical skills. Each guestion is a one
mark gquestion, You are o select ome most appropriate

response out of the four provided to you,

(x) Question numbers 34 to 36 in Section B are two marks
questions based on practical skills. These are to be answered
in brief.

|AF-H

Section-A

1. = g it get wee 1 i g ey fee s 5
C H,, ?I 1

Write the name and formula of the 2Znd member of homologous

series having general formula C H,, .

31/1/1 3 [P.T.0.
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2, HHE H gy F 2wl g ) |

List two functions performed by the testis in human beings.

3. ST AgHES § S o w27 I

What is the function of ozone in the upper atmosphere ?

4. w0 S A wiafiat % = srfmam £ ge ) 2

List four characteristics of the images formed by plane mirrors.

5, ﬁﬁ"ﬂa%ﬁwwﬁ&mw”ﬁﬁwm#?ﬂﬁﬁmﬂﬁ
T = a6 =ufer a9 vd a=rsitem & werge # v S
AT & 2

Why are forests considered “biodiversity hot spots™ List two
ways in which an individual can contribute effectively to the

management of forests and wildlife.

6. THOE we & wn A &7 gewww f ge § geawEm i
A W ST R 7 2

What is meant by “sustainable management™? Why is reuse

considered better than recycling ?

31/1/1 5
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T, Pt 3faa sere  wema & € el sifufen F fog e
R 5 e F T, seeee s = Fifsy
ot a s 3 @ Iare 3 i ot # R A TREE w
Feera o Fifee ) 3
With the help of an example, explain the process of hydrogenation.
Mention the essential conditions for the reaction and state the

change in physical property with the formation of the product.

g, TR g B WA AU AT il # 1 S A 87 WG
27w = o fan sht s it 3

What is the difference between the molecules of soaps and

detergents, chemically 7 Explain the cleansing action of soaps.

9. aﬁﬁmgﬁﬁmﬁﬁamﬁﬁa@mmﬁﬁﬁmﬁrﬁamﬁﬁ
eﬁﬁqﬁﬂ?&i%mmaﬁuﬁmwﬁiaaﬁ]ﬁwqﬁaﬂﬁﬁ
#: 3
(a) Mmﬁmﬁﬁaﬁm
(b) forefi srrard # and AV @ 7S AN IH T
How many groups and periods are there in the modem periodic

table 7 How do the atomic size and metallic character of elements

vary as we move
(a) down a group and

(b) from left to right ina period

31/1/1 5 [P.T.O.
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10. = ¥ ara o 2 3
sBei oF; ;oK 5Ca

= @ (i) 98 7 g foes awem S0 § U o g, (i) 3
THE % 21 A gHU a6 (K TF am X (2,8,7) F 5 § w5 @i f
wFid wd a3 ferfa)

From the following elements :
ABG; I;IF: ]_.:_.Kl 1{.(:3.

(i} Select the element having one electron in the outermost shell.

(i) two elements of the same group.

Write the formula of and mention the nature of the compound

formed by the union of K and element X(2,8,7).

11. 21.1.v, ofasfa a7 27 369 wees 9 oo e 3

What 1s DNA copying 7 State its importance.

12, e At ot & germar & T | gem &1 s Hitag| 3
Explain budding in hydra with the help of labelled diagrams only.

13. mmaEl g IwEm o 9 A nifiy A B an Tt fogE
w7z 24 fafigt = 3ugm frdd) oiem & e o syl =i s w
# gy yifee s 2t 3
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List any four methods of contraceptions used by humans. How
does their use have a direct effect on the health and prosperity of a

family.

B TE— R i e
ﬁtﬁrm"lémnﬁqﬁﬁamﬁl”wwﬁgﬁmmnﬁﬁmmﬁm
EAEu 3
“WWe cannot pass on lo our progeny the experiences and

qualifications eamned dunng our life time™, Justify thc statement

giving reason and examples.

15. (i) tﬁﬁﬁm*ﬁa,ﬂﬁwﬁaﬁmﬁrmﬁﬁﬁaaﬁﬁnwmﬁ
ﬁmn@mmﬁmmﬁ{ﬁmﬁﬁaﬁﬁmqﬁ
¥7 aron 3= <t gfe Al
(i) i = for il & gen 217 90 T 1w I
it 3

(i) Planaria, insects, octopus and vertebrates all have eyes. Can we
group eyes of these animals together to establish a common

evolutionary origin 7 Justify your answer.

(i1) “Birds have evolved from reptiles”. State evidence Lo prove the

siatement.

N 7 [P.T.O.
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16. e ferm st wiem % foe wm &1 fei 1 3w = 81 5 fm
i T Fohr A € TR 2o & e % v gt feemd s @ g
=1 9 Tk | 30 WeRr =1 &1 fort i aen srEme 20w & wEde & v
w Tt & o 1 fwn faflay) @ 391 Rrot = 358 10 em
Tl % Eae 0w § 15 om g W R G fom F 2dn o
wfafera it wefe ofi feafe 7 =+ 4 Hifemy 3

To construct a ray diagram we use two rays of light which are so
chosen that it is easy to determine their directions after reflection
from the mirror. Choose these two rays and state the path of these
rays after reflection from a concave mirror, Use these two rays to
find the nature and position of the image of an object placed at a

distance of 15 cm from a concave mirror of focal length 10 cm.

17. Amwifea SAT@ 1 e § =yre #ifae fF gaien o guts & e
T T F Weltd e 3

With the help of a labelled diagram, explain why the sun appears

reddish at the sun-rise and the sun-set.

18. witenaii & ween TR o1 st 3wy w6 ek o et oo
w1 9 T WeA-aml F enfes & dfemt sven fremi | O
F O M) Wi gEl % avare $o fis ¥ - e i e
=1 Afcrdl 1 TFE T IH T i AT T T VR A I g gl
TH w E T I af gl vee-mmht ofn vl % feeel wn
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e £ At ok el @ oo =% T F w9 @ FAT: W

it et FEaE! B e % g

(a) 3N Fem @ wfees ) asgell #1 S s % Fue 6
qafaro-fededt ff 27 w017 o g0 g T IO F W
fefiam)

(b) TTF 3T e F =S TE H 0 fHE WER AEH 2 Hhd 81 3

After the examinations Rakesh with his friends went on a picnic to
a nearby park. All friends carried cooked food packed in plastic
bags or plastic cans. After eating the food some friends collected
the leftover food and plastic bags etc and planned to dispose them
off by burning. Rakesh immediately chécked them and suggested
to segregate the leftover food and peels of fruits from the plastic
materials and respectively dispose them off separately in the green

and red dusthins placed in the corner of the park.

(a) In your opinion, is burning plastic an eco-friendly method of
waste disposal? Why? State the advantage of method suggested
. by Rakesh.

(b} How can we contribute in maintaining the parks and roads neat

and clean ?

31/1/1 9 [P.T.O.
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19. m%ﬁ%wﬁ:mﬁmmﬁﬂﬁﬁmﬁw
ﬁmﬁlmmmﬁmﬂﬁﬁﬁmﬁﬁwﬁ?ﬁﬁ%a
mwﬁﬁﬁmﬁwﬁﬁqnmﬁﬁqﬁsmmm
mﬁﬁ%mﬁﬁ%mm*ﬁﬁﬁr 5

Explain w
E P | why carbon forms Compounds mainly by covalent bond
xplain in brief twe main reasons for carbon forming g |
arge
number i
of compounds, Why does carban form strong bonds with

most other elements?

20, mammwﬁﬂﬁﬁmﬁﬁaa#aﬁ%ﬁm
VSIS, SEariewT, mytewy
w#ﬁ#ﬂmﬁmﬁﬂmmﬁmﬂ?#ﬁqﬁmfﬁql 5

Ovary, oviduct, uterys

How does the emb 1
: TYO get nourishment ingide i :
Explain in brief e o

i qﬁﬁﬁ?ﬂ?ﬁﬁ%ﬁ-ﬁﬁaﬁéﬂﬁg?ﬁﬁﬁﬁﬂ—ﬁ%ﬁﬁmw
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How many pairs of chromosomes are present in human beings?
Out of these how many are Sex chromosomes 7 How many types of

sex chromosomes are found in human beings?

“The sex of a newborn child is a matter of chance and none of the
parents may be considered responsible for it”. Draw a flow chart
showing determination of sex of a newborn 10 justify this

statement.

22. (a) m%mﬁ%ﬁuﬂﬁ@mﬁﬁrm%ﬁﬁﬁmﬁ
mﬁﬁqaﬂxﬁaﬁﬁmﬂw#msﬁﬁwﬂmﬁ
ST S e
(by el A" 3N ‘B ¥ Frie AT FE 2.0 3 1.5 F1 Ak
e B 3w = = 2x10° mis B, A :
(i) T,
(ii) T AT

& s i =re witERfa i) 5

(a) State the laws of refraction of light. Explain the term absolute
refractive index of a medium and write an expression to relate it

with the speed of light in vacuum.

(b) The absolute refractive indices of two media ‘A’ and ‘B” are 2.0
and 1.5 respectively. If the speed of light in medium ‘B’ is
1% 10° ms, calculate the speed of light in ;
(i) wvacuum,
(if) medium ‘A’

31411 11 [P.T.0.
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23. =g e e o weE w fd fem w de fafida ofafea
|rg-A19 Izl At wiafasa o @ wwa 217 359 w99 g % fy
W o s wifa T g e | o % are fae o e
=1 3eerd Hf Fifsm)
4 cm Fa7é 1 F1E fa= 10 om FE W F AT ©F F 20 cm T W
e %) &5 99 % 3wm | oW g0 394 Jre vt i Rty Faifa
=ity 5

“A convex lens can form a magnified erect as well as magnified
inverted image of an object placed in front of it.” Draw ray diagram
to justify this statement stating the position of the object with
respect to the lens in each case.

An object of height 4 cm is placed at a distance of 20 cm from a
concave lens of focal length 10 ¢m. Use lens formula to determine
the position of the image formed.

24, IS o @ 4 m 70 W SE ey W o g e e aE
i | 9E B fam gfe-2 | difga & 3aem am ot 59 2m & g
=t fufey =t = Fifem)
(i) Ffe-ar T
(ii) ¥EF HEA
#1291 % T o s i) 5

A student is unable to see clearly the words written on the
blackboard placed at a distance of approximately 4 m from him.
Name the defect of vision the boy is suffering from. Explain the
method of correcting this defect. Draw ray diagram for the :

(i) defect of vision and also

(11) for its correction.

31/1/1 12
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-9
Section-B

25. ﬁmﬁwﬁﬁszwaﬂﬁﬂmﬁszﬂmﬁmaﬁf
e B s wrAw 9w @ e @ welivify Remw g @
+ fore @ 3 1 e 5 fire & oveEna a8 Saon w0 9 e @ g
o :
(A) T T==3 TRl ore T
(B) T T uresl e e
(C) *r HFHT 1 Fft o A3 w1 2

(D) THiET 370 = wa W o o T

A student adds 2 mL of acetic acid (o a test tube containing 2 mL
of distilled water. He then shakes the test tube well and leaves it to
settle for some time, After about 5 minutes he observes that in the

test tube there is :

(A) aclear transparent colourless solution
(B) "a clear transparent pink solution
(C) a precipitate settling at the bottom of the test tube

(D) alayer of water over the layer of acetic acid

31711 13 [P.T.O.

Downloaded From: http://www.cbseportal.com



Downloaded From: http://www.cbseportal.com

26. ﬁﬁimﬁm@w—mﬁﬁmﬂmwﬁ#mﬁﬁmﬂ
aﬂ%ﬁmﬁmﬁﬁmmlﬁmﬁﬁﬁﬁﬁﬁmﬁq
TE - I
(D) Toemm & gom v o e e 8wy
(M) ﬁﬁﬂﬁmﬁmﬁﬁﬁﬂﬁﬁﬂﬂmi
{m}ﬁamﬂwaﬂaﬁm#%wéamﬁﬁﬁm%

(IV) e & gam o Fre Revem 7w 8t v
SH e e

(A) LIswy

(B} I, 113 1m1

(C) 1137 IV ¥

(D) 1911 #am

A student prepared 20% sodium hydroxide solution in a beaker to
study saponification reaction. Some observations related to this are

given below :
(I} Sodium hydroxide solution turns red litmus blue
(II) Sodium hydroxide readily dissolves in water

(LIT) The beaker containing solution appears cold when touched from

outside

(IV) The blue litmus paper turns red when dipped into the solution
31711 14
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27.

The correct observations are -
(A) L Il and IV

(B) L Il and III

(C) only LI and IV

(D} onlyIandII

ferelt seitn =1 st 3 fom i st 3werenr T ) 1 g e o
¥ 1
(1) wifeam F=inmee

(1) =@rfezm o

(1) *fFoam Feinres

(V) fewmn geke

(V) wfirm Feiss

(V1) Eefifiay g

At 130 T ¢ sl % 36 T #1 gf e v g we i e
T ST I B T 2

(A) LILV

(B) I 1L, v

(C) ML, IV, VI

(D) I, IV, VI

314141 i [P.T.O.
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28.

Hard water is not available for an experiment. Some salts are given
below :

(I} Sedium chloride
(I)  Sodium sul phate
(IIT) Calcium chloride
(TV) Calcium sulphate
(V)  Potassium chloride

(VI) Magnesium sulphate

Select from the following a group of these salts, each member of
which may be dissolved in water to make it hard,

(A) LILV

(B) I III, V

(C) IL, IV, VI

(D) IL IV, VI

31/1/1 16
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FTH § YT o St v E

(A) L, II, II1

(B) IL, 111, IV

(C) IIL, IV, V

(D) IL IV, V

A student indentified the various parts of an embryo of a gram seed
and listed them as given below :

(I} Testa

(IIy Plumule

(III) Radicle

(IV) Cotyledon

(V) Tegman

Out of these the actual parts of the embryo are :
(A) I, I1, 111

(B) I1, 111, IV

(C) LIV, V

(D) ILIV, V

29. WM @nEl A, B, C 3 D # 3 % 19 fiy 7o aq=eaii # wasm w0
T € FH Td 27 I
(A) =wmee Wi faet & va
{B)mﬁm%ﬁa
(C) e 33K fomeft = v
(D) T, awe 3T R 3 s
31/1/1 17 [P.T.O.
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30.

Four students A, B, C and D reported the following set of organs to
be homologous. Who is correct 7

(A) Wings of a bat and a butterfly

(B) Wings of a pigeon and a bat

(C) Wings of a pigeon and a butterfly

(D)) Forelimbs of cow, a duck and a lizard

A1 oy o A = svere il o g X0 F R | od e

(A) gtk X sraae =dvr & forwehl o Bear 12 cm &
(B) afés X s & R W gl 6 om 3
(C) g X’ s7ae 29 2 formsht wise 2 12 cm 2
(D) IR X’ 30 2o  formeft S 3t 12 om 2

31171 18

Downloaded From: http://www.cbseportal.com



Downloaded From: http://www.cbsep_ortal.com

3.

Study the following diagram and select the correct statement about

the device ‘X’ -

=
£

aann et ERT TR TS

l""l.'l

(A) Device ‘X’ is a concave mirror of radius of curvature 12 cm

(B) Device ‘X’ is a concave mirror of focal len gth 6 cm
(C) Device ‘X’ is a concave mirror of focal length 12 cm

(D) Device *X’ is a convex mirror of focal length 12 cm

feet = 3 oy M sow W g PRl g e T el

W 99 TR o 21w ofe i s gl a0 % g 38 A
EULE 1
(A) ¥ o 3 T 3 offa i 2t

(B) e =i\ & 3 % g 1 5f

(C) e forat 3 yitfora % «fte 1 70
(D}ﬁaﬁﬁﬁﬁgj%m—mﬁﬁmﬁuﬁrﬁﬁ%aﬁaﬁaﬁﬂﬁ

31/1/1 19 [P.T.O.
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A student has obtained a point image of a distant object using the
given convex lens. To find the focal length of the lens he should

measure the distance between the :

(A) lens and the object only

(B) lens and the screen only

(C) object and the image only

(D) lens and the object and also between the object and the image

32. =R BEI P, Q, R 3 S 7 F= F Gt 29 § 40° F s 9 smufad
et s & T el T 8 o 6 e e o st
=1 77 oY1 39 g o e A e 189; 22°; 25° 3R 30° of| wm
T BT LT ]
(A) P
(B) Q
(C) R
() §

Four students P, ), R and S traced the path of a ray of light passing
through a glass slab for an angle of incidence 40° and measured the
angle of refraction. The values as measured them were 18%; 227,
25° and 30° respectively. The student who has performed the
experiment methodically is

(A) P

(B) Q

(C) R

(D) S
RS 20
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33, ﬁﬂ%ﬁﬁﬁﬂiﬁmﬁﬁmﬁmﬁﬁ?{maﬂﬂﬁﬁhﬁ%%ﬁ
EIEES STHE # Fmie sgEn, w9 w5 (£1), 19 Fy (2r), fipfa
ﬁm{gejﬁmﬁamﬁm{smaﬁmﬁwmmﬁqﬁvﬁaﬂw
Al fr e 8, am Fw I

(A) £i ¥R 2t
(B) £i 3l se
(C) 4i, Le3 D
(D) i, Zr 3 e

317111
21
[P.T.O.
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After tracing the path of a ray of light through a glass prism a
student marked the angle of incidence (£i), angle of refraction (£r)
angle of emergence (£e) and the angle of deviation (£D) as shown

in the diagram. The correctly marked angles are :

(A) Liand Zr
(B} Ziand Ze
(C) Zi, Zeand £D
(D) £i, Lrand Ze

34, 3 9 Ve 1 weh sy FE A Iw wWE Q@ €, W a9 R
e 1 it s s 39 TF 9o S TR FEiAe
ferema 31 B3 =l vt 1 vaafE weEo e 2

List two observations which you make when you add a pinch of
sodium hydrogen carbonate to acetic acid in a test tube. Write

chemical equation for the reaction that occurs.

31/11 22
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33, mmﬁhmﬂwaﬁﬂﬁﬁﬁﬁaﬁaﬁﬁmﬁ%ﬁﬂﬁ
ﬁﬁmﬁaﬁ%mmﬁmﬂﬂﬁﬁmﬁmﬁwm
%m#qﬁaﬂ!mﬁﬂw%ﬁaﬁﬁmmwﬁem#

e ST B 87 2
Name the type of asexual reproduction in which two individuals
are formed from a single parent and the parental identity is lost.

Draw the initial and the final stages of this type of reproduction.

State the event with which this reproduction starts.

36. mﬁﬂﬁmﬁuﬁaﬂ%%mﬁ%ﬁmaﬁﬂwﬁaﬂqmﬁm
s 3 g e e B €, i B S @ gl
Maﬂ%@ﬁﬁﬁﬁﬂ?ﬁﬂuﬁﬁﬁmm%lﬁqmaﬁ
ﬁ-ﬁ&mﬁmﬁﬁﬁﬁaﬂtm%ﬁﬂﬂmaﬁﬁﬁaﬂﬁm
ST G 2

(a) uﬁﬁﬁﬁmﬂ%maﬁqﬁaﬁﬁﬂaﬁtmﬂmiﬂﬁﬁ
1 i e o A g

(b) o8 qr = i = Es gea €, YA TG B

(c) fores 1 o 3 g P @ S TR R 7

[P.T.O.
31/1/1 23
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To find the imaée—distmme for varying object-distances in case of a
convex lens, a student obtains on a screen a sharp image of a bright
object placed very far from the lens. After that he gradually moves
the object towards the lens and each time focuses its image of the

SCrecn.

(a} In which direction — towards or away from the lens, does he

move the screen to focus the object?

(b) What happens to the size of image — does it increase or v

decrease?

(c) What happen when he moves the object very close to the lens?

317141 24
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